PR ODWUCTS, I

8811 West Market Street
Colfax, NC 27235

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies with the 2006
International Residential Code {IRC), Sections R301 & R613 and the 2006
International Building Code {IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404
(including Texas revisions) subject o the following conditions:

1. Anchors shall be as fisted and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# | DESCRIPTION
1 Typical elevations, design pressures & general nofes
Astragal detalls {Ultimate Huricane)
Door panel details {lip lite insert glazing}
Horizontal & vertical cross sections
Vertical cross sections
Frame anchoring

Nl WIN

¥ Endura

73.94" MAX. FRAME WIDTH

81.69" MAX. O.A. FRAME
HEIGHT (INSWING)
80.88" MAX. O.A.
FRAME HEIGHT (OUTSWING)

CERTIFICATE OF REGISTRATION # F—11852

uj
2R
S (7]
w
3o o
Ex & i
I -
N QM <]
2 Z &
u E‘g U
c > 2
o 0%
r4
"é g""’ o
g‘ mED X
3 459 @
2>m 0N
n -2 E
ZOom S
Y SR. &
@ oN« o
g 28% u
a =25 o
3 :)o..g %
g Bod g
s X
-
c
w §
SN
3 =
o
[

INSWING

-35.0

OUTSWING

-30.0

0
Z =
28
%)
&
=
3y
<
o L =
> <o
Q & Ln>.|
= = \,‘Qﬂ
Ll i g
al a8
< Fx
e o2
Xl =0
3 ol &G
O — tl‘u
o e o
@ < Q.
o o
d Frld Il
ot ]
&
)
alR
Mo
Ol
IiG
7 —
Ll
e B
ol 2
_J% P
L= Q
<|Of= ==
2SS 2
QIS a
Eln|D
S| [
=
IS
] B
o) (=)=
a|oia
<<
w|o|+
/]
RERE
o
NEE
~lo
w2
oaTE: 9/06/12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4220

SHEET 1 oF 6

R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 607\Drawings\2018 - REV 2\TX-4220.dwg, TX-4220

© 2012 R.W. BUILDING CONSULTANTS INC.



CTON] BINVLIASNODLD BNIGTHNE "M 2102 Q
Z68LL—d # NOUVHISIORN JO ILvOILIUNID SNOISIATY .
SHIINIONI YNOISS340Nd 40 QUVOB SvXEL @m«@%&:ﬁ«w@g%e Ad 31v0 [ONjoy| | wl o 6_
L616°659°CL8 FON SUOUd S41 TUS_SNUYINOILEY 030av] »1/60/1 | L || 4| &1,
G6GES 4 OOMIPA OCZ Xxog .o.&\N\Ma ATAW3SSY d0 LdVYd | S7{ FNNIdYD Nid IVOVHISY M3IN aav 6iL/l0/6] ¢ % m . mw._ o
“ONI ‘SINVLINSNOD ONIQTING @ S47| SAI0HSINHL TYNOILIQaYy d3aav|gL/sz/8| ¢ S . 2 v_A 2_
&8~
CZTIYOLE "I'd SVXIL ‘ YNAN3I " w 6y w &
I'd IPHUYDS 4 uopuky :Ag pesndedd sjuswnsoq 10N00d S8 S 518 B
=
<
o
fa)
(X8}
_‘llqll 881°8¢ & -
i A
2
— - -]
E o 5
<
WOLOd
N o5
- % * I
j18)
2
00 Favd
-3 — Tn\uw [3V]
. 2 Y
3 2 5
2 -2 T
i M [ -
i sa 237 2
° &
: o
= 3
2 &
S
3 w
3] o 3 o
: 5
2 |
K e 3
™~ o
liuau [7e) o
ﬁ g g
p g
. F
= )
W P =<
> [o 0]
[ %) m H % £ 3
Z 7]
o <
Co -
<C
Q .a..v an o
9 Y 5
SR R
) in < AN —-— z
N’ 2 3 3z 0 g £
— [
5 lE— g |
=2
T - = D <<
l g < 8| re]
5 < g x| 3 3
- %o w - [ r b )
O e | 07D O o~
- O ik | il
mw 0= [
zZ _.Dc < <
2 2 9= 050 — f=— 12
o [22]
. =
2 ﬁﬂ
M
7 —
R i <C
o ™ G
- &
, o
+ z &
mhv m i WQ.N { A
N~ m n LU
S 3 1t 2
| %5 <C
° ! I3 n O
oo m £ N
3 T BN < — oc
L m =
» .=. c w €I
: 5 z
2R £ 8 < <
o AN zZ & S
<C ~ =
5 g =
= w =
—_ o) m
dOl == )

-1 'BMP'OZZY-X1\Z AZY - 8TOZ\SBUIMRIGNLO9 - IQL\SUI 40 1daQ sexa] - S\ININVINYI4 eInpug\siuaiD\y



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 607\Drawings\2018 - REV 2\TX-4220.dwg, 1-3

e 1.2" |-

- 1.75" —=]

]

[ HINGE STILE

(POPLAR)

35.75" MAX.

PANEL WIDTH

21.0" MAX

D.L.O. WIDTH

79" MAX. DOOR

PANEL HEIGHT

63.0" MAX
D.L.O. HEIGHT
4

STEVES & SONS

Insert glazed
(steel)

INTERIOR Gl

3. 1.2" =
/ I
EXTERIOR
12" LONG LOCK STILE
LOCK BLOCK {POPLAR)
(PINE)

@ HORIZONTAL CROSS SECTION
3

#6 X 1-1/2" PH SMS

INTERIOR

“

GLASS BITE7/16"
—1/2" NOMINAL GLASS THK.

1/8" TEMPERED GLASS
—~_ — AR SPACE

¥/l

~~—1/8" TEMPERED GLASS

1L

STEEL SPACER
QSO SEALANT

EXTERIOR
LOW TACK SEALANT

GLAZING DETAIL
Lip Lite Insert Glazing {RSL)

G1

)
o

L Y

Y
NDON F. SCHMIDT

U]
T
!

N&%\'\ky-
OF r

-~ 175"
TOP RAIL
(POPLAR} ™ -
~
\
FOAM CORE
(POLYSTYRENE)\
INTERIOR EXTERIOR

STEEL SKIN
(0.020" MIN.
THICKNESS)
02080
BOTTOM RAIL ——
(PINE) ~ ~a———

7
Al
.

2"\ VERTICAL CROSS SECTION

3/

uj

o]

R 0

I

N Om L]

e 20, 2

L .o

c W

] o =

° o® §

gl— = L X

2 Jd59 0
2>m 0
0. @
Z0m o

- 83 o

@ d &
O xXZ

hd zO '8

g §mg (e}
- 26 O

§ 50¢ %

& Ban g

: X

Eod

c

] e;

E g

3

Q

o

0

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

DOOR_PANEL DETAILS
(LIP LITE INSERT GLAZING)

LFS
LFS

5/07/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS| PART OR ASSEMBLY:

8/28/18 |ADDED ADDITIONAL THRESHOLDS
1/09/14 |ADDED ARTICULATING SILL

1

NO.) DATE

3

o~

REVISIONS

oate: 9/06/12

scalE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4220

SHEET 3 OF 6

© 2012 R.W. BUILDING CONSULTANTS ING.



| 2X FRAMING
™ 1

EXT. SHEATHING \ | S / DRYWALL

1114

e #10X 2.5 PFH

/ / ~.
y / ™~ LATCH: KWIKSET SIGNATURE SERIES
(991)
i’ ‘ CORNER PADS (TYP.)
RNER PA .
/

/4 1

5 5

1/4" MAX. o5

SHIM SPACE

~— CSINK
EXT. SHEATHING ’l (vP)

#10 X 2.5" PFH WOOD SCREW
—

2X FRAMING P

(G >=0.42) —\

-~ JAMB
ENDURA WEATHERSIRIP

]
/ \\ ~ DEADBOLT: KWIKSET SIGNATURE SERIES
y // // (980/985)

(QEBD/PE 650)
EXTERIOR

N

\‘ INTERIOR
#8 X 1" PFH SM$

4" HINGE

DRYWALL
#8 X 2.5 PFH WOOD SCREW
#8 X 3/4" PFH SM$

/ 1"\ HORIZONTAL CROSS SECTION
W Inswing shown - Outswing also approved

174" MAX.

1 -1 'wooD screw

SHIMSPACE |

DOOR PANEL -\

0.15"
C'SINK
(TYP)

EXTERIOR

/"3 "\ VERTICAL CROSS SECTION

\— HEAD

ui

ENDURA WEATHERSTRIP

(QEBD/PE 650}

INTERIOR

\4/

ENDURA WEATHERSTRIP

(QEBD/PE 650)

\\

N

Outswing shown - inswing
also approved

ULTIMATE HURRICANE ASTRAGAL

/— DOOR PANEL

3

#8X 3" PFHWS
#8 X 1" PFH WS

m HORIZONTAL CROSS SECTION

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.0. Box 230 Vairico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By:

3
G
&2
Wo
=
<<
& 5 R
D > %)
S |3 2,
i & B0
0l §O
ol Q&
< X0
BCE
2 o T
o &
x <
o o
172117 >
] ] f1 6
&
0>
O~
la
Ol <
IS
" -
L= f=d
x|S|6B
I wn
'\“'(ZD b
] B O
<|O}= —
ZIZIg |8
SlEls| >
Ejln|o] |W
Qi< (v’
ol
=
~Zls
W BN
ol
alala
<<
WO+
et
RRRE
o
o
NER
o
MiN =
DATE: 9/06/12
ScALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4220

SHEET 4 oF 6

Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 607\Drawings\2018 - REV 2\TX-4220.dwg, 1-4

© zo12 rRoW. BUILDING DONSULTANTS INC.




Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 607\Drawings\2018 - REV 2\TX-4220.dwg, 1-5

\\ \\ oLy u
INTERIOR EXTERIOR INTERIOR EXTERIOR &:ﬂ»:?}_ Ny “q
DOOR PANEL ENDURA Y/ DOOR PANEL ,::.2';({5 g %§ 0 gﬁ‘,
e DOOR PANEL WEATHERSTRF  1ERIOR EXTERIOR i i cb E°
ENDURA (QEBD/PE 650) e g~ 0% oy gK 8
DOOR SWEEP ENDURA ENDURA ] = Gui el 10 wh Fup ae
(DBK] DOOR SWEEP WEATHERSTRIP,_  INTERIOR EXTERIOR| 503 “FA\ i i % e g GEZ g%
! ¢ < bt 3] o9
/1? (DBK-ZAC) . (QEBD/PE 650) é{f’\% i5 tE Egg 85
\< L& VS0 S Z T 335 pe
g5 LS Zg5 bE
Tiaadons™® & O%; E§
o @ xz  *
£ % S Ok
§ 592 Bp
) & maoao 3<
o § @
2
[a]
#10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR __#10X 2.5" PFH WOOD SCREW OR 2
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR IT'W CONCRETE SCREW 1/4"' X 2-3/4" ELCO OR ITW CONCRETE SCREW %
/"1 "\ VERTICAL CROSS SECTION /"2 "\ VERTICAL CROSS SECTION /"3 VERTICAL CROSS SECTION fg\ VERTICAL CROSS SECTION | @
inswing Adjustable Threshold inswing Articulating Threshold Outswing Bump Threshold uiswing eump Inresno o -0
W 9Ad W w/ PingCapture w U 8 > &
z |9 X
Loz ©
ol =
23
il [
H0 ! e =y =
z o % =
L E 3 S 3 ? s
1 ls f f
| | | 456" | . | | 21210k
I 4.56' | | - ' 4.56 ! = 4.56' - "
1 INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD S
ZAIL4565 2 ) aseseN ZAILAA4565 IAIAA4565FN ZAI4565RDS § g
515
L=l
=10
=l 2
o 1=z
| f 23§ 2
i 2=g| |2
4 = 21513
- N lﬁ - SI<iEl e
Q = [N d
* < & <
]—<—————— "'—————————] ‘ [ o Y l ] - SZE
4.56 . 4.56 4.56 ; . 4.56" . § § §
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD ©|0|+
& JincLesss 7 Jiacasssi IACLAA4565 ZACAA4565FN ZAC4565RDS NE
NIO|O|<C
RN
MO O
zZ
%i D@\ i D@m i D I DATE: §/06/12
% < 3 s scAlE:  N.T.S.
L { 1 i =) owe. B:  JK
CHK. BY: LFS
! 456" ,! !- 4.56" f! !~ 4.56" V! ! 4.56" ! DRAWING NO.:
11) QUISWING THRESHOLD 12) QUISWING THRESHOLD 13 ) QUISWING THRESHOLD 14) QUISWING THRESHOLD TX—4220
10BL4565 10B4565FN ZOB4565RDS FOB4566 o 5 o 8

© 2012 R.W. BUILDING CONSULTANTS ING.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 607\Drawings\2018 - REV 2\TX-4220.dwg, 1-6

2X framing {by others)

W
cod Y
UJ -
5% 88, £
Faol " ¢ Astragal Strike Plate £+ 3 22
2F8 1 2 (YR @ Head Jamb g gm 9%
Q (TYP,) f" ¢ Ky SB8 e
—— . o
| = v ! §§ £33 3z
T ) T T I = [ = 5 538 acg
SEEHINGE —__ | T TK— 17 \\ 2o g%
DETAIL 1 NG T #10 X 2.5" PFH ” DETAIL 1 _ AN & g o 3 £
- WOOD SCREW oL #10 X 2.5" PFH WS 3 Zd8, Sy
5 i {TYP. @ HEAD ” | = g_ gcié EE
AND JAMBS) DETAIL 1 o Bt 3%
- m
. : E
0 N \ @ g x
B - sx2zews  |E & B8
bz - [ : _ g
#8 X 1"PFH wséf' i
SEE HINGE H P ~e Hlo— = #8 X 3/4" PFH WS
DETAIL 2 i _ " 4" X 4" HINGE
IE \ g
\ | E s | 8
a8 | DETAIL 2 OR 3 == HINGE DETAIL 1 S s S
: + 1 =8 z |gc
' [_LHI L ' - W By
- % v P #8 X 2-1/2" PFH WS 2 =
.. L‘_
" #10 X 2.5" PFH WOOD SCREW o ® | &~ 8 =
4" [TYP. - " = — o o
il e 2" (TYP.) 1/4' X 2-3/4' ELCO OR #8 X T"PFH WS él. |, STt #8 X 3/4" PFH WS e %
HINGE JAMB ¢ ITW CONCRETE SCREW "~ 4" X 4" HINGE — T
(TYP @ SILL) \ L) | 5[
FLOOR SUBSTRATE MATERIAL {TYP.) FRAME ANCHORING A L
CONCRETE (MIN. 3000 PSI) XX o€
WOOD (G >=0.42) HINGE DETAIL 2 2 3
31505
L=
Xisin
T|o wn
[ 3 (&) =z
2|FE| o
<| O]~ —
2|15 |12
8 =13 D
lneg 1211 6]
o= &
Iz <
[m} 4 {a)
Lt ]
' CONCRETE ANCHOR NOTES: s|8/8
1. Concrete anchor locations at the corners may be adjusted to maintain the min. ASTRAGAL PIN CAPTURE :; :) :
edge distance to mortar joints. COMPONENT (UNDER CAP) NNNT
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to QNS g
maintain the min. edge distance to mortar joints, additional concrete anchors . 1/2° DIA. HOLE (IN CAP) NRE
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 1/2 Dl<\. HOLE N
3. Concrete anchor table: : = = 5 z
R T : = ;5 > = DATE: 9/06/12
= \T‘ SCALE:  N.T.S.
i DWG. BY: JK
mw n " CHK. BY: LFS
TAPCON® /4" 1-3/4 2-1/ 8 DETAIL 2 DETAIL 2 DETAIL3 DRAWING NO.:
ELICO . - ” - Outswing Inswing Inswing TX—4220
ULTRACON 1/4 1-3/ SHEET 6 OF 6

© zo12 RW. Bun.pING CONSULTANTS ING.



